A. Klenke, Probability Theory, 2nd edition, Errata, 14.01.2023

p 17, line 5 Replace a < b by a < b.
p 24, line 3 Replace a < b by a < b.
p 25, line -6 Replace [z,0) by (z,0). Add “for z < 0”.

p 26, lines 7, 9 Replace F' by F), (twice).
p 74, line 27 Replace = by >

p 89, lines 12, 13 | Replace these two lines by:

Clearly, f* < g* a.e., hence (f* —¢g")"™ = 0 a.e. By Theorem 4.8,
we get [(fT —gT)Tdu=0. Since f* < g+ (f* —g¢g")" (not only
a.e.), we infer from Lemma 4.6(i) and (iii)

/f*du < /(9++(f+g+)+)duz /9+du-

Similarly, we use f~ > g~ a.e. to obtain

/f‘du > /g‘du-

p134, line 10 | Replace o — fllp by [lfu — fII5

p181, line 2 append: “and which is such that x(w1, E) < oo for all w; € Q1 and
Ecgr”

p196, line 26 Replace E[X;] by X;.

p234, line 5 Replace “€, =” by “&, D”.

p235, (12.4) Replace (NZy(A;))™ by (NEN(Al))ml.

p236, line 14ff Replace Y_,, by Y,,.

p261, line 17ff Replace the definitions of V;, and Wy41 by V,, = U, U; and
Whpt1 = VN(Wn)’ respectively.

p263, line -4 We also have to show that F/(—oo) = 0 in order that F' be a distri-
bution function. This however follows from tightness just as in the
lines -3ff.

p276, line 9 Replace Ej € & by E; € £ U {€Q;}.

p276, line 16 Replace E; € & by E; € £ U {Q;}.

p289, line -6 Replace w € Q by w € E.




p297, line 1
p297, line 6
p301, line 8
p301, line -3
p304, line 18
p306, line -7
p316, lines 3, 4
p316, lines 13, 14
p318, line 1
p323, line 3
p323, line -4
p335, lines 25, 27
p335, line 27
p341, line 11

p342, (16.16)
p344, (16.20)
p353, line 11
p356, line 12
p408, line 13f
p408, line 15
p437, line 14
p438, lines 5,6,7
p448, line 14
p450, line 7

p450, lines 9, 10
p450, line 10
p450, line 11

Replace H(zx) by H,(z).

Replace h(y) by h.(y).

1£ll2 = llpllz/ (2m) .

Factor 1/4/27 in front of the integral is missing.
Replace (t/a) by (t/6).

Replace ¢(t) by @x(t).

Replace h™ by |h|™ (two instances).
Replace v/27n by 1/4/2mn (two instances).
E[X%] = (=1)* u(%%)(0).

Replace Ly, (¢) by e 2L, (e).

Replace €t by ¢ |t|.

Replace u, by v,.

Replace v by pu.

The map f; is not continuous. At this point, we have to work with
Gre(x) = e —1—itwly, <1_ instead of g, () = e —1—itxl ;.
We choose £ > 0 such that v has no atoms at the points of discon-
tinuity —1 4+ ¢ and 1 — . By the Portemanteau Theorem (Theorem
13.16(iii)), we get convergence of the integrals. Finally, we let ¢ — 0.

Replace (0,00) by R\ {0}.

Replace i(ct — ¢™) by —i sign(t)(ct —¢7).
Replace ki, —t, DY Kt,\q—t;-

Replace t € Ny by t € I (twice).

Replace p by r (three times).

Replace ¢* by p*.

Replace g; by .

Replace oo by 0 (three times).

Replace iy by e,

Of course, the convergence AS 1 A9 holds only on the event {S, —
oo}, wich has probability 1.

Replace AS by AS (twice).
Replace S, > %= by S, > S~ 4 &=,

Replace %55 by B




p450, line 12ff.

p460, line -6
p489, line -2.

pH02, line -2,-1
p539, line 5

The argument could be given in some more detail. For example:
There is an ¢ > 0 such that P[X; < —2¢] > e. Let L :=
liminf, o S,. As shown above, we have P[L = oo] = 0. The event
{L > —o0} is invariant and hence has probability 0 or 1. We assume
P[L > —oo] = 1 and construct a contradiction. Inductively, define
stopping times 7, := inf{k € N: S, < L+ ¢} and

Tot1 :=inf{k >7,: S, <L+¢e} for neN.

By assumption, we have 7, < oo almost surely for all n. Let
F = (Fu)nen, = 0((Xn)nen) be the filtration generated by X =
(Xn)nen. Let F., be the o-algebra of 7,-past. Define the events
Ap = {X;, 41 < —2¢}, n € N. On A,, we have S; +1 < L —e.
Clearly, A, is independent of F,, and thus

P[A,|F:, | =P[A,] > e

By the conditional version of the Borel-Cantelli Lemma (see Exer-
cise 11.2.7), we infer

P [lim sup An] =1.
n—oo

This shows that almost surely S, 11 < L — ¢ infinitely often and this
in turn contradicts the assumption that L be finite.

Consequently, we have P[liminf S,, = —oo] = 1. The statement for
limsup Sy, is similar.

Replace Chebyshev’s by Markov’s.

Replace “a = [(t + s)n] — (t + s)n and a = sn — |sn]” by “a =
(t+s)n—|(t+ s)n] and a = [sn] — sn”.

Replace 7, < s by 7, > s (three times).
I(z) =B (FF(z) — infyepm, () FP(y))-




p551, line 20

pH51, line 23
p558, line -3
p559, line 2

pH41, line -6
p541, line -5
p576, line 18
pb77, line -5
p577, line -3
pH81, line -1
p582, (25.17)
p582, line 17
pH87, line 7

ph87, line 11
p596, line 18
p599, line 17
p599, line -6

o _ -1
Xi = ([ gy X(d)) | = (X 0d)
Replace G1 > G by G1 < Gs.

n,l _ n vn,l _
Replace X™* = (XI{L,XQ,... by X™' = (X??,X?,Xg,....
Replace X™! by X!,
Replace PD by GEM.

}(O,oo)

Replace Theorem 25 by Theorem 3.2.
Replace Pr by P7.

Replace F(X;) — F(Xy) by F(Xr) — F(Xo).
Replace (X); by (X)r.

Replace ag’l by oi’i.

Replace f(f by fOT (three times).

Replace F by (F(W:))e>o0-

Replace d =2 by d < 2.

On the r.hu.s. replace ||[Wy|| < r by [[We| < s.
In the right inequality on the right hand side the factor K is missing.
Replace 1(g,00) by 1[0,00)-

Replace fol by fg .




